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Anti-clockwise rotation through an angle,  about the origin, 

Methods in Algebra and Calculus Assessment Standard 1.1
1.	Express  the following in partial fractions.





	(a)  	(b)  	(c)  	(d)  	(e)  





	(f)  	(g)  	(h)  	(i)  	(j)  




	(k)  	(l)  	(m)  	(n)  

  

Methods in Algebra and Calculus Assessment Standard 1.2
2. 	(Chain Rule) - Differentiate the following with respect to x:




	(a)  	(b)  	(c)   	(d)   




	(e)   	(f)   	(g)   	(h)   




	(i)  	(j)  	(k)  	(l)  

3.	(Product & Quotient Rules) - Differentiate the following with respect to x:




	(a)   	(b)   	(c) 	(d) 




	(e)   	(f)   		(g)   	(h)   

4.	(Trig Functions) - Differentiate the following with respect to x:




	(a)   	(b)   		(c)   	(d) 




	(e)   	(f)   		(g)   	(h) 
						


5.	Use implicit differentiation to find   for each equation below




	(a) 	(b)  	(c)  	(d)  




	(e) 	(f)  	(g)  	(h) 







6.	(a)  	A curve is defined by the parametric equations     and   

		Find the gradient of the curve at the point with parameter   

	(b)	Find the gradient of the curve defined by the following pair of parametric equations



when   :	      and  



	(c)	A curve is given by the parametric equations     and   


		Find     in terms of   .




	(d)	The position of an object at time,  ,  is given by:     and  


		Find     in terms of   .




	(e)	The position of an object at time,  ,  is given by:     and  

		Find the rate of change of the object when  . 


Methods in Algebra and Calculus Assessment Standard 1.3	
7.	Find





	(a)   	(b)   	(c)  	(d)  	(e)  





	(f)   	(g)  	(h)  	(i)  	(j)  





	(k)   	(l)  	(m)  	(n)  	(o)  




	(p)   	(q)  	(r)  	(s)  




	(t)  	(u)  	(v)  	(w)  
					


8.	(a)	Using the substitution  ,   find   


	(b)	Using the substitution  ,   find   


	(c)	Using the substitution  ,   find   


	(d)	Using the substitution  ,   find   


	(e)	Using the substitution  ,   find   


	(f)	Using the substitution  ,   find   


	(g)	Using the substitution  ,   find   

9.	Using integration by parts, evaluate




	(a)   	(b)  	(c)  	(d)  




	(e) 	(f) 	(g)  	(h)  




	(i)  	(j)  	(k) 	(l)  	


Methods in Algebra and Calculus Assessment Standard 1.4

10.	Find the general solution of the differential equations   





	(a) 	(b)  	(c)  	(d) 	 




	(e)  	(f)  	(g)  	(h)  	




11.	Find the general solution in the form     of the first order linear differential equations:





	(a)  	(b)  	(c)  	(d) 




	(e)  	(f)  	(g)  	(h)  	



12.	Find the particular solution of the 2nd order differential equations:





	(a)  	when   ,     and   




	(b)  		when   ,     and  




	(c)  	when   ,     and  	




	(d) 		when   ,     and  	


12.	(continued) Find the particular solution of the 2nd order differential equations:





	(e) 	when   ,     and  	




	(f)  	when   ,     and  	




	(g) 		when   ,     and  	




	(h) 	when   ,     and  	




	(i)  		when   ,     and  	
















[END OF REVISION PAPER]








Answers:




1	(a)  		(b)  	(c)  	(d)  



	(e)  		(f)  	(g) 



	(h)  	(i)  	(j)  




	(k)  	(l)  	(m)  	(n)  





2	(a)   ,	(b)  ,	(c)  ,	(d) 





	(e)  		(f)  	(g)  	(h)  	(i)  	



	(j)  	(k)  	(l)  




3	(a)   	(b)   




	(c)   		(d)   	(e)   	(f)   


	(g)   	(h)   






4	(a)   		(b)  	(c)  	(d)  	(e)  



	(f)    		(g)  	(h)  






5		(a)  	(b)  	(c)  	(d)  	




		(e)   	(f)  	(g)  	(h) 	






6		(a)   	(b)  	(c)  	(d)  	(e)  






7		(a)   	(b)  	(c)  	(d)  	(e)  




		(f)	   	(g)   	(h)  	(i)  




		(j)	  	(k)  	(l)  	(m)  




		(n)  1	(o)   	(p)  	(q)  	(r)  π




		(s)	  	(t)  	(u)  	(v)  

		(w)  






8		(a) 	(b)  	(c)  	(d) 



		(e)  	(f)  	(g) 






9		(a) 	(b)  	(c)  	(d) 




		(e)  	(f)  	(g) 	(h)  




		(i)  	(j)  	(k) 	(l)  






10	(a)   	(b)  	(c)   	(d)  




		(e)  	(f) 	(g)  	(h)  






11	(a)   	(b)  	(c) 	(d) 




		(e) 	(f) 	(g) 	(h) 





12	(a)   	(b) 	(c) 	(d) 



		(e) 	(f) 	(g) 	


		(h) 	(i) 
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